SATNIK SCHOOL CLASS-6  5-Apal WIS
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Instructions ! Fach qrestion has Jour ogyons.
There Iy tur{\' e caorvect oplion fnJ'm*h
question. Choose the correct most u,r:';:ﬁ?i'fun'
option and darken the corr 'ﬁ'ﬂt”frﬁﬂ,{' t)ff'f'fl’
with blue black on the OMR Answer Sheet

SECTION-*A": LANGUAGE

001. Choose the correct articles from the

given option :

Rahul is intelligent ggn of

~_poor larmer. N

(1)  the.an (2)  an.an
A1 ana (4) a, o

002.  Fill in the blank by choosing lf(lBlnusl

suitable word : CD'
Charu’s handwriting 1s T am

unable to read 1t

(1) ambiguous .
- 12 ', " - a
{:] 1'_11}:1!1]1. N
y immgrant i
3)  illegible o))

Iill in the blank with the cnrn.u:{jbrm

/Q\r\ S Lomf KQ%

006. Identify the torm of the €€ in the
following sentence
Soham had sung a song

Ur

Yast perfect

(2)  Present perfect
(3)  Pastsimple
(4)  Present simple

(he

007. Identify the nouns used 1

following sentence
Fvery person should perform his duty.

22,

person, duty

003,
of the verb . (D
While | a letter, my @acher
came.
(1) hadwritien
7)  waswriting Y
(3) WwWrolte Ty
(4)  had been writing fF:r
004, Choose the correct option to cpmplete
the sentence ~J
car is piarked over G
(1) Thev're, their J)
(2)  Their theyre
(3)  There, therr
( 1 herr, there
005 Tl in the blank with suitable question

 H | L
“L" works i HL‘IIHHI_
(1)
(1))
"1

N

l[I1L"1 fll.'
¢|Itlll‘l he
st he

doesn’t he

APR-6-25 (/29562

WA W

St

‘)

(3)

— s

(2) cvery, duty
(3) person, perform
(4) cvery. person
008. Fill in the blank by choosing the
correct pronoun :
This is the girl all admire.
(1) that
27 whom
(3) who
(4)  which
009. Choost the correct spelling :
(I) saperate
'(/'U separale
(3)  seperate
(<)  saparate
010.  Form a meaningful sentence using the
jumbled expressions :
(1) (05 Warn as
(b)  atis believed that
(C)  SINswealers
() apashmina shawl is
(1) (b () (¢) ()
(2) (b))  (¢) () (d)
(3)  (c¢) (i) (h) ()
y by (dy @) (¢)
P 1.0
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014,

015

APR-6-25 (/29562

el

Find o sword which v opposite of the

given word
HEIGHTTN

(1) strengthen

(2} masumize

(3) widen
decrease

Choose the word which is nearly the
same in meaning to the word given
below
DEMISE
M death (2)  illness
(3)  birth (3)  rebirth
Fill in the blank by choosing the
correct option ¢

There 15 not 2 student Mohit

in our class.

\f/}l/ as intelligent as

(2)  as the most intelligent than
(5) antelligent than
(«4)  mostintelhigent as

(Choose the most appropriate word to

fill in the blank
' vou have done well.

(1)y  Alas

(2) Oh

(3)  Oops
Hrivo

(111 1 the blanks by choosing the
correct idiom

It has been raining.
last seven hours.

since the

e —

(1) black and white
(2)  hucandcny
(3)  farand wide

r\'l)/ cats and dogs

(p1ey LI

017 Choose the ¢of

the sentenee
the

| wish to know_

iS p]'..‘&-::ﬂi H'i DL-II | OT [in

(1) whether, whether
(2)  weather, weather
\,(/.?T whether, weather
[4, weather., whether
018. Change the gender of the underiined

word -
The fox was hungry.

~21) filly \}D« viven

N (3)  Toxes (4) coll

019 Identify the part of speech of

.y underlined word in the 2ive
w .\i'i H'IH”ILT “I” COINC sivM ”

o) JJ’)/ Adverb

2 Conjunction
13} NOUun
(4)  Adjecnve
020. Fill in the blanks with plural forms
"HHEIII e | P IIH |
formuly | - Il
_, |__sheep ’ - |
anb ‘
(1. (1 I‘unnll ae, sheeps
-L}{"-'I tormulas, sheeps
\)’V tormulae. sheep
J .
(4)  tormula, sheep
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Read Ihqj’y!lnuim: Passape and

quu&lillllﬂill ﬁl”uw ;

Conversalion iy ; Line

answer the

art. 1o is the art of

uxcluulgmgllluughlu. [0S an at whicly anybody

can cultivate or master. Not everybody cimn [Hlill!

ar play music, but alimost evenvone can talk.
Thus itafdrds "Towlk’, savs R 1 Sle

our chie

Versan, 1s
siness in the world. And talk. is by
far the I'@l accessible of pleasures. It costs
nothing manoney, it is all profit. It completes
our edutdtion. makes friends and can be
enjoved at any age. Conversation is indeed the
most teachable of all the arts. All vou need to
do s 10 find a subject that interests vou and
vour li.@lt}mrs. For example, numberless
hobbics giyalk about. But the important thing
1S that }%Jnusl talk about the other fellow's
hobby rt{‘fl’):r than your own. Therein lies the
secret of your popularity. There is nothing that
pleases people so much as your interest in their

interest.
—

It is jupOas important to know what
suhjuls&"o avoid and what subjects to

sclect forpdod conversation. If vou don’t want

-

to be se<Jown as a bore, avoid certain
unpleasant l'npius. Avord talking about yourselt
unless you are asked to do so. Sickness or death
bores evervbody. The only one who willingly
listens 1o such talk 1s the doctor, but he gets
paid for it. You must also know not only what

to say but also how to say it

g,

APR-6-25 (/29502 (

021,

022

il

(024,

B

According to the author, which is the
Clsiest art”

(1)
(2)

Hobhy
Music
Lxchanging thoughts
()

How can you become popular?

Pamting

y/ By talking about listener’s

hobbies
(2) By discussing about education
(3) By talking about our hobbies
(44) By discussing about death

On the basis of the author's view, which

statement 1s not true”?

(1 Doctors are willing to listen to
our miseries and sickness

(2)  Knowing how (o sav is not as
important as what 1o say

(3)  Talking can be a means of
pleasure.

(4)  Talking costs nothing.

Find o word from Para | which means
Within reach

(1) Fellow
(2) [eachable
(3)  Chief

\()/)/ Accessible

I'ill in the blank by choosing the
correct word ;
[t1s important for children to
cood manners.

(1) avoid
2T cultivate
(3)  please

(4)  bore

(P10
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Instractions : lach question 15 )

There 1s onlyone corvect opliith 1ot
qliesiton ( Teoh¥e e corncdd TIEAY| HIJ,F"!”;”"-'W'}'
”a"“mr-:r:;m'mé;nm.-l-u'r'w;-‘uﬂlu’-r!*:t'”l'“ wilth
biue Black on the QMR

*-w.mM; CMATHUMATICS

et Mt

026. The punnmu-.ﬂﬂn. followang, tiure 15
? &N e
' en Y O
v LI
iem Iem
(1) 30c¢m 1.2'( 36 cm
(3) =S4 cm (4) 43 cm
027, \\.IHLINIIIL following statements arce
nol lﬂ@:lr
(A)  =~dgvo acute angles are always
Gavipplementarny.
\)/Gﬁm obtuse angles are always
supplementary.
(C)  ‘Two equal angles which are
(wice of the halt ot arightangle
are supplementary.
(1) _"/:n acute and an obtuse angles
_are alwavs complementary,
Choo&ahe correet answer trom the
n]'lnnn-'ﬁ‘ﬁl‘- cn helow
(1) ('J:lmlll)lunl}'
(2) (A (Byand (D) only
(3) (A und (C)only
() IHJ.H'}ilmlil)]mﬂ}‘
028 [hevalue ot * the following is
1058 ¢7® - 3787
ly 4 (2) 3
(%) 0 (4) S

1

APR-6-25 C 056

[ v}

- gy T 97 14T 5 g
gnﬁ?‘ﬂ:ﬁlf Ir: ;I;T-""i v ""_"_ 5 . *‘I!n:. (.
it T A 417 liM_l-: YT,

i o e /e FATTHs |
“Br ot
0260,
(027,
(A) @l R “*‘T ZRLE: NG
-(31/ 3 saFaET Fis IS BT
(C) A TET T A AEET T
%A T & GO 8, HEE
(D) Uk w a4y 0% steT=
aa {TEE *- ¥
Y M EEe 8§ oEE T

T FI

(1)  &as (C) a7 (D)
(2)  Fa@ (A), () 377 (D)
(3) AT (A) 3T ()
(1) FFE (B), () 277 (D)

028, a1 8 * @ oy 1t

t”:.‘.lH . ? . “; 4 H .
_y/ | (1) )
(3) (y (1) S
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029. A borrowed ? Y500 tor 3 vears ot the

rate ol 4% pa, B borrowed ? 3200 for
B
= years at the rate of 3% poa. and €

borrowed 2 2800 tor 3 vears at the rate

. 1} '
OF 30 pac on simple interest. Which of
the tollowing statements is true

(1)

Unly Band C have to pay T840

cach as simple interest

(2)  Only Aand C have to pay T 420

cach as simple interest

(3)  Onlv Aand B haveto pay 420

cach as simple interest

lﬁ)/.-'\. B and C all have to pay 3420

cach as simple interest
030, A sohid cuboid is formed by joming
three solid cubes of side 4 emeach. The
volume of the cuboid so formed 1s

256 ¢m’
64 cm?

(1) 128 et (2)

yf 192 ¢m? (4)

In the given question two statements
Assertion (A) and Reason (R)are given.
Read them carcetully and choose the
correct option from the given options,
Assertion (A) : 41 s a prime number
Reason (R) @ 1t has only two factors-
number 1 and the number itsell.

031

(1) (A)is correct but (R) is not
correct

(2) (A) is notl correct but (R) s
corredt

E}V Roth A and () are correct and (R)
is the comect explanation ol ()

(4) Both (A and (R)are correct hut

not the correcd

(IRY s
explanation of (A)

s ETIR

"ﬂl]‘l{—f_\"_‘ :. l"

(029,

i ol

)
~
ae
@)

A2

T ),

3500() 77

T
Mda w7 7T (
fer
Hm ferEn g fao
2o i A

1-%' 3, |"I 4% 8
3200 1 2 an ::i', ety §u,
T 2o%00 @ 1wt R
so, gifts Zv A myren @A O

2o il 'ii 71 7]

(1)  F& Bag C, U= % 2 440
ATV 20 2 AT

(2)  Faa AFu C, 7=E @ T 420

(3) Fa% AT B, 7957 & 2 420

‘11/] A.Bag C, &5 @@ T 420

28 #HiS (2) 256 #/"7°

3 192FES (4
ﬁrr!gru?wrﬂ FH, aEEE (A T
d@ (R) [ )
F¢ a1 A T faFa 3
el

APHFET (A) : 41 05

[
eLlrLasE Seq| SHeadw
1-

; =

b (R): WTTI_{T'I'"._""F*“‘T'JT

| 41 8¢ WEN 3§

(1Y (A ad e afrs (R) g8 56 B

(2) (A TH E T SRS (R) 99

J)/ (A) TG (10 25 5T | o/ (R
(A) & 7 s 7

(4) (AT (R EE wh R afs

12.1.0.]
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LRRE

()34,

()35,

\VIPRA6-2S

| e areas of o sauare and a rectimg le are
cauatl 1T the side ol the square 1s 30¢m
and the breadth of the rectangle s
25 e, then the length of the rectangle

't/l,)/ O em
(J) 42 ¢m
(3) 3N c¢m
(<}) 40 c¢m
A shopkeeper bought two mobile
phones tor 15,600 and T 14,400
respectively and sold them for a toral

of T 31,200, His loss or gaimn pereentage

1S .
(1) loss of 4%
(2) loss of 8%

(3) gainof6%

L gainof 4%

A factory produces electric bulbs and 2

out of every 13 bulbs are defective.

the factony produces 630 bulbs per day.
then the number of defective bulbs

produced perday 1s

W R4 (2) 45

(3) 90 (4) 42

he value of (x + v)in the Tollowing
fioure 18

117"
[(s"

{ _?”'_"-\h:

(8)

035,

-
N

oy, a4l o0 R o p I E R TR

drgrd 257 A

e

*
I.
L]

[l .40

(7) 42 T]ﬁl
(1) 38 AL
(4) 40 71, Tﬂ.

gy arar o
(1) 4% &I
(2) 8% I
(3) 6%<Ti4

0. L v L a
i @l @l H-ajn it A S E

u P UG ARE

girey 7

\/(/H’ 84

(3) 9()

A osmEfa § (v y) TR F

U2 . T S

(3) | G3"
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F

Read the given statements and choose
the L'nrrgc(ﬂ“'mn -
Slnh:munl'gﬂm Lliugnnnls ol a square

)36,

are equal ig Jepeth and are perpendiculiar
o cach othes,

Statemen - The diagonals of a
rhombus are equal I length and are
perpendicular to cach other.

(1) Both the statements ire (rue

(2)  Botl the statements are lalse
\(}’)/ ”lgbﬂulmnunl-l 1S true

(4)  Oifvstatement-1lis true

)37. Ifa=15

-

“&Eh = 15. then the value of
N

036

T

[ wo et @ e wi ey @ wae
Wt -

T | - oan & fawn e 8 e e
& e qrepr ws BA 8

-1l AR & @ dEE E
A0S G e O S et CART oA G B

(1) 2 #45 44
(2) I F49 374 7

By @aw a-| e E

(4) FFa F449-11 73 7
037. IR a=5T@ b= 157, 7

i . ; \
_4.])‘.—;.([1—{1) T L”'l h# —
8 —+(b-a) AR B :
Lb ﬂ b : J 7 e
(1) 18 Br (1) 18 or 14
3) 24 (4) 12 (3) 24 (4) 12
)38. A woman bought 5 kg 640 gmpotatoes, | 038, U Hieew A 3 FHA. 640 T, G,
3 ke 37 gm u:ti?ns uni 6 ke ‘s 1) IR, 37, G a9 6. 8.
tomatoes. She found 2 Kg -h. em Y g T 0 . 45
tomatoes rotten and returned these to % B oo ek R
the vegetable vendor. The weight of'the . E:“E( @Uﬂ_‘ %) '"1'1!‘# v T
vegetables she took home 1s B aen fRan @ ales @ 1w FE W,
JTH T E
(1) 13.360 kg
(1) 13.360 ..
@), 12640k or 1260 fm
(3) 13.460 kg ' (3)  13.460 &
039. 35 fFmm & few T 8750 7 F
139. 35 envelopes cost TR7.S0. THow nm*n} Y 7308 T wE @ e R i
such cnvelopes can we buy lo —,
).'J 21 8 T
< 73 0 31 Qe 20
:
(1) 312 &y~ 292 (3) 126 (4) 252
(3) 126 (4) 252
(0) [P 1.0.]

\PR-6-25 (/29562

(% scanned with OKEN Scanner



040 Arrange the following fractions i | 040 qray @ e

. { 3,
ascending order fg 5N |
- - ]
- J 2 1 5
-, = = and — (O - -
6O '-J‘ p. et 160" |z
' % 7
LB EJ (1) N 12
ol e D R ‘{‘ 3 2z
(1) £°9°3 ' 6
| _? . f|,*..
15 7 2 - 13 1'%
? el Sl NI g - '{ . 9 -J’
Ly/ Hh9 12 3 / 69 12
5 7 2
17 2 w0 T o2
3) 38123 ™ 3) 9°6'12°3
v 6 12 35 .
= 1| 7
5 : I / LD {4) o B e
- ot il Sl e F ( Vo " 2
| () 9 36 12 ~J ) 36 l_ . ) y
04 ﬂu:h:u;:th.hn::ullh:ﬂ’tdlu:iyhluld_nm 41 @ FE ?CT SR SYE Y S
are 1030 ¢m. 730 cm and 425 cm, Fag: 1050 A, 750 H = T A
respectively. The lengthi of the lonzest R ARz CLE Ay QT T 7L T
ich ¢ casure the three | T T e .
tape which can IHLL’I.IH-.' e e Y @ & s @ T T
dimensions of the room exactiy 15 = - ! o
: W 25 AL (2) H.i
\‘J/ 75 Ccm ‘2] :1“ Et“% o l N .
e { - a5 e 1 B B
- ) | I._:} 1."1l. :
(3) 125 ¢m (4) 150 enl (3) NP
| 042, Wihich ot the (ollowing statements g | 042, foet 3 3 -3 #AE T -
' - * A a7 R R R
b corredd ! (A) qre e AT .
" (Ay 110 number is divisible by 4.1 W oIEE 8 8 H R T
must be divisible by 8. | (B)  afe 1 sjeq 3w AL
(1) [f a1 number 1s divisible by 3 and 'l;,:1r Moz 15§ e Ers B
5. then it 1s divisible by l_'" nis0. (C) 2 a7 & & fywr=s 9% &5
() A number whichis '.h'»'l"‘"l"r_h} 1M fersr o
I and Bas i“\i“ihlt‘ h"k 1 6 als ) ) . T
S 4 live ddd (D) 2 FREE A HEAT O
| TWO COnseCUlve « Tl s g
; (D) Thesum ol iwo Comsee o hel) #2a 4 A faqem o T
| aumbers 15 always divisihle by \/V( . ..
I' i
( e (13) 3477 (1))
g Only (1) and (1) - _ :
| . - \ 26 (2) A6 (13, (Cy 307 (1))
(2) Only (13, (Cyand (1) _ _
| b - r . r* ] '_'I
(3) Cinly (A 13, and (D) (3) frf“[ (A ilj* (1))
| ' . (4)  FaE (13 3T 0
| (4) {)nl}-rlh;uul[(_)
. 10 )
APR-6-25 /29562 '
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043 What should be added to the sum ol (4
1 79.08 and 20.17 o el 51279
J/H/ 112 75 -
|
- v 9 % = i‘i[’ Yy
(=) w21.75 g
(3) 711,25 BN
(4) 31325 :
87 2 o
044, IT48% ot anumberis 120, then what s (044
170% of the number 7
(1) 383
(2) 475
(3) 400
My 425
045. A rectangular piece of land measures | 045,
700 m by 300 m. It is 10 be tenced with
4 rounds of wire. The length of the wire
necded 1s :
\f/U’ 9600 m (2)  So00 m
(3) 7200 m (4) 4800 m
046. Theaverage of 15, 120178830 (x-1) | a6,
and 22 is 15, The viduc of x s
(1) & 2 10
) (3) 20 (4) 12
047. Sixscalors ul'cquul arca are formed by (147
the three diameters inoa circle The
measure ol an angle formed by two
adjacent radii m cach sectoris
\!}}/ G0)"
(2) 307
3y 90°
(4) 437
(11

APR-6-25 C9561

12 g A & e 79 08 $f 20 19
T 3 g R

W 312,75

() 21 75

(3) 711.25

(1) 13 05

N A drEn @ *”‘T”‘F;'I_'_‘n b e
W T O170% T Bl

O
‘I I Y e
(2y 475 \
(5) 4010
W 425
UF AN JaEcs = ©a 00 ¥
- - r: ':I-l- = :' _:_‘
f:TIT SO0 B/ T =TT-‘ A= gare] #
"I" &
IJ . L

\/l/l’\/ 9600 3 t‘;‘ij AR

(3) 7200 #

18, 12,17, (N+5). (x-1) 1
lﬁﬂi N AR B )

(1y 8 10
() 20 R | 2

il g o & e Al & [T 859 g
6 FA=Ee <+e STy B 2 B@es §
entesr il BICH ) 3 g =Y R

W Ol

l_"] W ()
() arr 4
Ilu-'.J
(+) IS
™
N 1O

(3 scanned with OKEN Scanner



04N,

049.

050.

051.

My mother savs that m her chifdhood the
price of petrol was £ 15 per e 1o ?
72 per ltre today. By what percentige the
price of petrol has gone up ™!

(1)  360%
(2)  250%
(3)  400%
Wy’ 380

An item was sold at TS840 at o loss ol
20%. The cost price of the 1tem was:

(1y T7500
\9)/ T 7300
(3) T 4672
(4) T 4582

Name the type of an angle whose the
measure is the difference of complete
angle and the angle which is 5 times of
half of a right angle :

(1)  Straightangle
(2) Reflexangle
(3) Acutcangle

4y Obtusc angle

A rod of length 15 metre 8 em is divided
into 4 equal parts. The length of cach
part of the rod is

(1) 3.88m
(2) 3.65m

3y 3.77m e P

(4) 3.95m 8

052. 0.009 + 9.09 + 0.9009 - 0.09 = ?

U 9.9099 0 s
(2) 9.9009 _ NalaLAsk
(3) 9.9089 re0 |
(4) 9.8909 0,16 0
APR-6-25 (/29562 RSy
- |

(A8

049,

(50.

051.

052.

iy sy oA g, 14, an

pater it gt 215U
#

2 72 Ui

afqury A g 1S

' I I ,‘fl"”l

‘.Il ,. r!',“l.'r

(3) LN

W VROY S

S LD |

| 2T q
P | A A I D4
T h i

) ﬂ o 7,

l'],"

L7 '.-:“’i i .

et P SRA

gt wd) A wl aa e "'u .

(1) € 7500
&/ 2 7300
(3) T 4672
(4) T 4582

) (

| o140 B ¥ 19

77 U g ST A TR 6
FroT T4l AHET F oA F WG T AT

(1) o7 T
(2)  gEA FA
(3) =g M
Wy aifaE @i

B =

gr——

-—

1561, § 7 71 B2 @ 97 F9E7 ET
ﬁmwr:mﬁwm"-“

::
(1) 3.88 71,
(2) 3.65 1.
\/1/1 77 A1,
(4) 395 .
0.000 + .00
(1 0.9009
(2) 99009
(3) 9008y
(4)  9.89009

L o)

(,.9000

() ()

|

=

(% scanned with OKEN Scanner



053,

054.

055.

056.

APR-6-25 (/29562

(e
(v
A train covered o certan distancewith
aspeed of 120 ki hre i 40 nnmﬁ% I
the speed of the train s mervased ]qu“”
kmhe, then how much less time wwill
ke to cover the same distance

(1) 16 minutes
127 & minutes
. = e
(3)  dminutes ")
| -
(4) 10 minutes (O

A liquid is heated to a tcmpcrnu?u:‘juf | 054,

SO°F (Fahrenheit) and the temperature
of another liguid was raised to 25°C
(Celcius).  The difference in
temperature of the two liquids in degree

celcius i1s : 4@
(1) 10°C (2) 8ec )

(3) 12°C W 150

The supplementary angle nmc 055
complementary angle of two tines of |
one-fifth of a nght angle s :

(1) 124° (2) 132

(3) 144° W 126° _
Anita invested a certain sum for < years 036.
at the rate of 3% p.u. and received 2 850

as simple interest. Sunita also invested
certain sum for 6 vears at the rate of

4% p.a. and received T840 as simple
interest. The difference ol the sums

they invested is
(W 750

(2) <520

(3) 1690

(4) T 1250

(13)

/

r e A ogm g 120l A

# nfa B oan e o Fy T S

'ﬁ*T aA%rET | S0 M VO AR 7 BE. OB |
?Fh r;T '-'EiT i,l 14 ii'rf;? 1’1 ‘i,ﬂ ?'.;:.‘JI";T'[ e

Y w7

(1) 1689z

A2 BECe

(3) 52

(4) 107572

FE 23 50 | (w7 arens 793
Frar @ 741 550 592 22 37 7O
25°C (BifeTam) 77 9o T I ZE
(1) 10°C (2) 8°C

(3) 12°C w/ 13°C

(1) 124 (2) 132
(3) 1447 {4/[/ ] 26¢
I W WY G S0, amE T a3 4
EFi F FTFTQ ﬁ"ﬁ!ﬁ F 3T 38 T 830
e =@ o gAm A s S
erfer 40, afts 23 7 o F fEO
Frae &1 fd 35 ¥ 840 e &
' N

vt ijeltd] =

frem 399 &1 e &1 72
3f T i

W~ 750
(2) < N0
(3)  * 1690
(«)y < 1250

1.0
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057,

—
AN
g

059.

060.

APR-6-25 /29562

Sum ot all the prime numbers between
I and 60 having 3 as the unit digit is

(1) 129 (2) 78
(3) 168 (b~ 135 ¢

Read the given statements and choose
the correct option ;

Statement-1 : A line has two end points.

Statement-11: Two lines either intersect
or are parallel.

(1)  Both the statements are true

(2) Both the statements are lalse
(3)  Only statement-1 is true

3% Only statement-I1 is true

3

Sunita bought 35 m of cloth. She used

3 R

% m cloth for Kurta and = m cloth for
) D

Pyjamas of her doll. The cloth left with
her 1s :

(1) 2= m (2) L
6 A 3

)3

I \
7 m (4) ~— m
(3) 1 \/ 2
In an examination, in a group ol 5 boys
and 7 girls, the average marks ol'the boys
is 12 and the avernge marks ol the girls is
|8, The average marks ol the group s

(1Y~ 155 (2) 10

(3) 145 (4) )

(3) 6OHH ,'\L/ 13°

05y, fan Eu @Al @1

FHI-1 : @l F & A

T}' Tﬂ'".?‘:- :

f?i?' e 3
] i

(C(2) M A FEA A 7

~(3) FEd FEA-1 T z

I

p el S
(1) <5 - (2)

3
(;-3] 2'_1 1. (4)

060). r Eﬁtﬁ m’mx 3 :'- ﬂ?ﬂ C*:

— .._.-u_._‘.--a--
|—-l

;W%um F AT |
aftaa 3ig §

90 ()

(3) 4.5 (J)

(14)

?l — -
S & 7

()

\PRR-
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i61.  The least number which when divided
by 25, 40 and 60 leaves Y s the
remamnder in cach case 1s

UM (2)y 509
(3) 619 (4) 609
)62 Read the eiven statements and choose
lllL‘ CcOrrTegl! ”I“i"n '
Statement-l - A secant of a circle is @
line scpment having its end points on
the circle.
Statement-11 - A chord is a line passing
through the centre of a circle and
intersecting the circle at two points.
(1)  Both the statements are true
(23 Both the statements are false
(3)  Only statement-1 is true
(4)  Only statement-11 1s true
063. The ratio of price of coffee to that of
tea when coflee costs 24 per 100 gm
and tea costs T 180 per kg is
(4.3 (2) 3:4
(3) 2:15 H) 4 :5
064. Anil exercised for 2/3 hour. Ram
exercised for 3/4 hnur. Chetan

exercised for 15 hour and Dharm
exercised for 876 hour. Who exercised

for maximum time ”
(1y Anil

(2)  Ram

(3)  Chetan

(4 Dhirm

APR.G-D5 (/2956

(16 |

(06

(63,

(164,

L3
(15

T2 R ad wiwn P 26 40 w0 o)

ANt w03 g1, wag fedia & 3w o
am

(- 501

() Hlh
CRRIDIEOC B RT,
PP ‘-Ff E
T, 7 .
f B P i 197 g9 77 fam g

. T
% L)
i.l

'--

{lj fl'jf’p

' -

\qae] %)

';h': A

FE-I0NFA 39 3 %2 7 95 22 0

i - -l"

e B G I o i
A% FH7A] 7

(1) =M 499 7= 7
(2 ﬁ?ﬁﬁf—*’fi
(3) m?ﬁl-w 7
() Wr-ﬂ—llur
A ﬁ%“:ﬁ}---m%
TJTF-IFH?TH‘“JQI*IH- 7. 2 &

G F e w4 HA g " 3 B

‘f/lp 413 (2 3:4
(3) :.'jl‘\ () } =5
e ﬁ VIGT OFGES S TH R
3/4 :i?l'l- &qTATH THa 9 3 15§
amar e Ja a3 S 6 U Sam
fmm TR 37391 il s @y a7
(1) ol
(2) {4 |
(3) @ [
C- ’*_“ B

A L 5 5 0N

| |
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065,

066,

067,

068.

06Y.

070.

APR-6-25 (129562

L] { "

A sohid metallic cuboid of length 9 ¢m | 065,
and width 8 emis formed by melting o
solid metallic cube ol side 6 ¢m. The
height of the cuboid is
(1) <4 cem 2cm
(3)  6c¢m {\)/ 3cm
[otal how many S digitnumbers are there? | 066,
D 90,000 (2) 89,900
(3)  RY.000 (4) 89,9999
A number written in Roman Numerals | 47,
LXXNIX - XXXIXisequalto:
(1) XC 21 XL
(3) XXIX (4) CIX
A car runs with a speed of 65 Knvvhr. | 068.
How far will it travel in 180 minutes
with the same speed ? -4
(1) 245km 14
(2) 180 km U 0
(3) 117 km
(7 195 km <L
Which of the following is the correct | 069
representation of 446 in Roman
Numerals?
(1) CCXLVI (2) CLXXVI
(3)  DCXIVI (4 CDXILVI
5 : : 070,
Sunita reads 7 part of'a book in 5 hours.
The part of the book she W Ul read in 2
hours 1s :
2 4
w3 @ 3
N A 3
3) 3 (4) 5
(10)

i A I S ;;F.I ;

17 T 0
m;ﬁ;“'q—f TTET s+ 411l b i 2 |

o 71911 Aaell fh*’l" 0 7o
— P

(1) 4 7.1 @) 3

(3) 6 71,11, A i
5 aial #1 FF A drAm o
(90000 (2) 8900
(3)  89.000 4)  ¥9.99,

e g 1 ferdl
[ XXIX - XXXIXZTE 10

(1) XC lf}y?rgf*.'l
(3) XXIX () (_d'fjt;

o HL 63 .51, /32 ?.I'—';E-: " o2
180 foerel 5 a7 T TMges o C
g Hen 7

(1) 245 AL

(2) 180 f&.10. O ;
(3) 117 [&.4. Q
\(4/)/ 195 &.91. O
Frsr 3 @ @F-a H(*-TCFGT? T
At fege & 7 ol

(1) CCXLVI () LN
(3)  DCXIVI (- (DN

i il o @ %

Tl B A R gy
T OE @7 g~

. N
3 - :
‘ - 1
7 (1) g |'
-
O
T"""'
N
=

=i
(% scanned with OKEN Scanner



71, Thevalue ol 32 « 16 - 4- 2 1S
(n o (2) 20
72 The decmal form of the sum ol : and

~ is :

!

(1)  O.875 (2) 2.175
T 1.275 (4)  1.875

0701 32416 4.2 « 397 sy ¥
('H 74 { \_I/L'/ 19
) "1
072. o @ N % aunTee B P
(1) O.RTS (2) 217§
\9/].275 (4) 1.B75

)73, S0 chairs and 30 blackboards were [)7£ oF faman & fa -:,”W Il
purchased foraschool., ITeach chair costs N &S wie a, ot ums .;:.:: F G
T 1065 and cach blackboard costs T 1643, | E?- T 1065 & TN I9E wWEET TS
then the total amount of the bidl is : | N T 16457, d 19e =0 39 a2
(L3 1.02.600 a1 «— (1 T 1.02.600

— 2 2
(2) T 120600 STITED | (2) X 1.20,600
- b (3) T 1.02.,500
(3) T 1.02.500 AN
2 ¢O (4) 92,600
(4) 92,600 = oA
. ']1:_._;, - | 4 T : - - 2
074. The  value  of > in ml(B 3t Lt xrmmme:
' 5 & S
-" T 2 e "' y ".‘ F
M— ?_.._.:2._..'~.. P -' -
3 5() 13 ﬂlh' ‘;‘l-'.:"l ‘_N_ ) .
1o - - | o (2) =
2 L RC0 B3 :
- ) 71
W3 (2 3 | |
| | (3) :‘1' (4) E
(3) 2 () 3 - gg ;
175. One angle of atriangle is hallofaright | O8< Bl fﬂ“f‘l HOUH Hie, TEET &
angle and another angle is 15° more | O gy 7 oaa 0F SN FE, TS F
- , r—a =
! o uE-fEE @150 JeE B g T
than —rd of a right angle. Name the € D : o n
3 U RN E R R R
trianele based onits stdes and angles T AT ue L lELE
(W Isoseeles rilgln :mglc;l 1I|‘|:|_nglt:*I () RE S o R
(2)  Isosceles obtuseangledirangle O IR S
(3)  Scalene acute angled trinngle P, (3)  TwEg =g ‘i“‘u! |
(4)  Scalene right angled triangle E (1) lagaEm FEn i.ﬂ.‘;r'[
PO

APR-6-25 (205062

1I'«’!§
r
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Instructions : Faclt guestion fas four oplions
There 1s only one cor raclh ophion in el J

(riestion Choose the correct maost n‘;';””,'”'hlfl'
aption and darken the corresponding: coreléwith
blue: black on the OMR Answer Sheet - 'i

SECTION-*C" : INTELLIGENCID)
076 A sct ol lgures carrying cerfun
numbers is given below. The numbgrsin
cach figure follow a similar pattern.
I'ind the missing number (as indicated
by *?°):

(1y 10 (2
(3) > (4)

077. Arrange the following words in logical
sequence from bigto small :
(A) Cal (3) Money-bee ¢
(C) Elephant (D) Whale )
(F) Lion o~

Choose the correct
following :

N T <«
option fronithe

O\
(C).  (E)  (B). «A)

(1) (D).

(2) (B). (A (1), (D), ()
) (€ (1, (A),  (B)

4) (B), (A () (C).

(D)
Arrange the letters R.LPLA 1\5%1};_1
cach of them only once 16 form i
meaningful word and then identity ghe
category given in options given ha_i_n?v
(o which the word belongs : |

078.

- L.

frddl el
gl A
R A

0H76.

077.

(178.

(1)  Frun (2)  Vegetable
( Month (4)  PFlower
APR-6-25 €729562 (18)

—_ 3 ar faEe B o
CCLIR i B ARlAEn 5
:‘Ji‘-’{'?l v OMIRR IR T o,
yen gt A
- C" il
I DA G
g () @ f T R

(1) 10
(3) 3 (4) 12
8 % FH § egarEd Fe

T

(A)  Fael (B) FE5
(C) ol (D) &=
() 9%
Fysiffra 3 Q4 A8 faweg =1 =55 &
1y M. (©. (E). (1B
(2)y  (B). (AL (L) (D).
(D), () (). LA
(4)  (B), (A ()L

o Mg g @ fmim F=

GT?.{'?[ RLINA E: A QT P T
o A AR e amtiad 3
G 2 e e 8 @ 3

(Rrdl) A g AR

mafaE oo
(1 W& l

-

.

(% scanned with OKEN Scanner



! | |
.’_L'l
"0 Complete the tollow ing an rlj\ej LA b b 1 (L Gl Lo £t B B 7
BAT 23 DOG ¢ o= WAL 21 Do
1 > | o
van J Y- u
() 27 (1 ]
(3) 235 (1
O
(4} ON ) (4) 'E

[

. » S 1. fyeotatery stegmn 31 woy mm Y
0 I:ndlhcnuwmgnnm\wr('I.M‘Dkgwun OR0, RN S _‘ il

oY >

SCTCS 511G BREE
3 ) 38 ) 3 100 2 3 g
3, 1, 20, 30, S 10, 20, 35, .

:*_9) ¥ 118

2 < - (3) S
(3) MU (O
<«
(N

(4) 45

S

From the given alternatives, choose the | O

figure which will replace the question

mark () to continte the series ('Y B SeENING @

N ; LU .
5 ™ 1
i v
|
I
_
‘ (1) l
\ - | '
PR-6-25 (/29562 A & ¢ o'l 14 T |
i é

’\J p , X . ' ' '

(% scanned with OKEN Scanner



| & Al A s B AR LR

OR2.  T'here is certam rL‘Iillinn';lup herwedn OR. fﬁfr ﬁfﬁﬂ =]+ ;;'.'.1 f‘r{ﬁ 'ﬂ"r h’i‘,-, o
the two terms piven on the left side of 311w ¢ ) A W m T}
(::). Choose the correet alternative for a o e q F N AR G
the missing term having the similat
‘ =3 ay - K1L.MN o GHTD
relationship wath the thard term. ABRCD K1 ' "
ABCD  KEMN s GHI 7 (1 RS
W QRST @) OPOR ,,.
2 {) ‘{} (1' g | =Y
3 Y -
(3) RSIU 'Iil) PORS
J POQRS
- - . . . o ()83, ()ﬁ?l’amdiﬁﬂ"’ﬂnﬁ
083. Thereis acertain rclnlmmlup‘hufu cen | 0! o o o ¥ fom
two numbers given on the lefl 5|d}: [‘.ﬂ 3 3 o8 ﬂl [ e %
(::). Choose the correct number from A A 2k -
‘ ves 1SS g 494 i
the given alternatives for the missing
number using the same relationship. 04 - 11 :: 64 - )
24 : 11 :: 64 y S '
- &_l_.) 32 )
(1) 32 ~ o . -
— \) ) 33
(2) 33 ~ ces
Vo 15‘:»‘) 21
(3) 21 o b
‘(4’)/ 31 i I;’)/ 31
084. If 4+2-06 CA 084, TG 4+2=06
A() = = 6 el ol & 10 + 20 = OG0
40 + 20 = 60 44 2200 40 + 20 = 6(
- =S 400+ () =600
aon + (&) =600 - Lty 00 ©) =6
@ @ + 2000 = 6000 then, the @ @ - 2000 A
aumnl@-@-‘ﬂm ? | @..jzﬂﬁﬂ‘!
2202 _9/ 2202
(2) 2222 (2) 2222
(3) 4202 \[13) 4202
(4) 4002 [_U} 4002 "
9
APR-6-25 (/29562 (20) T__
LN

(% scanned with OKEN Scanner



0835, l-'iml:ﬁw missing letter (7) m the
f““”}??ﬂ letter series
£J.Q, 7 .Y
(1) =
2) V
(3) S
\9/ "

086. Choose, the odd one out among the
ﬁﬂlnﬁ:ﬁg:
(1) “Ginger
. S
(2) cBeetroot
1;)/ “Tomato
(4) Carrot
087. Find the odd one out among the | 087.
followaqe :
(1) %00 0,)/ 146
(3) 6 (4) 64
ﬁ - .
088. Studyﬁc sequence ol patterns in 1.2 | 088.

and 3 carefully. On the basis of these
patterns, find the number of stars in

pallcrﬁ.
I W
~  Pattern |
N
B:8:8- 8-
7% X ¥ W

Pattern 2

AR RRK
HHHTRRK

Pattern 3

Ll*// 36 (2) 48
(3) 32 (4) 24

APR-6-25 (/29562

ORS.

4y T
086, \{/&ﬁm {7

(21)

A1 &) ¢ e A d ga e (7)
SIS 3 2 | 7 LU

E.JiQ, 2 Y
(1) | ]
(2) V
(3) S

FHTA FH I
o7 | LU

(1) GET®

(2) T#at

ot

(3 °HeT

(4) e
Frsfafaa & @ S97@ @ 989

FIeTa
\_(2’( 146

(1) 100
(3) 36 (4) 64

5 U U gREd F FX L2 E7 3 F
YA ST Fiaw ST gF AaEd
3 ana 9T qiaeq 9 8 faar 3 e
SIGREE

¥ 9 W

Pattem |

¥ R
¥ W

Pattem .

ARERRW
v A 7 ¥ W

Pattern 3

\l,l/l/_’ih () 4N

(3) 32 (4) 24

(P10
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. . 5' - sr2 b 2 L 175 Y »
Z L
. A - ‘i . ”H” I
089. Find the missing number 7 i the
, ' v/ '
followimng . |
=~
rd
/
/
iy 5

l "
. ) l | -/H( ul I
w—(/l/( 121 I | | (2) |
(3) 110 — . 20)
v o2 (4)
090. Some of the letters are nusmng(hl:u‘!k:% | 090. PR s SR
indicated by © ) in the letter series gry A< LA Cgr S
- - . - f’: -, LA L | ;‘
given below. Choose the correct order ferc 17 P 7:
of letters from the options given below 'm,.; i " Aicd
- J 'al
to fill in the blanks to complete the oo EI t N
letter serices. a aba__ba_ab
a aba__ba_ab (1) aabb
(1) aabb bLCa 1,) . (2) baba

(2) buba - (3) abba _:

(3) _ abba |

Wy bbab ¢ LN
091. Find the odd one out among the | 091, F=EEa 5 5 7555 : :

following : FfET

—
F
-
a—"
—
-
—
——
=

VL PT_ 0
y/ Lk | yaﬁ P
o H} i il."—__‘_:
@ |, 2 | 2) |
A O ‘ (A O
4 - F. (1)
) i J ‘ .

(22)

APR-6-23 (729562

(% scanned with OKEN Scanner



L)

(X) B
T 3% O
il 7l
i 123
2 A . _ I
.0
|%
(2) s}
o
3) , Xl
r; s .
8
w | B
L
3. Choose the odd one out among the | (o3
following :
(1) GIKM 2y BDGI
(3) RTVX (4)  NMOOQS
4. Iday betore yesterday was Wednesday, | god,
then day  ofter tomorrow  will
be o
(1)  Monday
\l/'.‘-'/_l/ Sunliny
(3) | Hursday
(4)  Saturday
'R'h-:" (LY AT I (23)

Choose the cotrect mnron iIIIH_L'.L' ol the
figure (X), when the mirtor is placed
on a line AB as shown below

A

# L |

|
'

0y

A (X)) F 0wd) e yiatpa 5 g
S E L R R TR T W T

AB 97 A T am

A

B
©
%

2 | b

(N

‘_

Q.-

P

Prosfafoa s 5
(1D GIKM (2 BDGY
1131 RTVMN 4y NMOOS
qiz @ (lnoen) } wm B= wd g
1, Al [*..*ﬂl aﬁﬂ) % Uw B9 T2
F1-31 & B

S[HETE & Urar=

(bFy  FIET

L~ e

RO I (LRI EIE
BB

[!
[P 1.0)

(% scanned with OKEN Scanner



(9S. Find the I%ﬂﬁillg term () in the | 005
following sdhes .
ADC, Il l(i.&_i(, ?
(1) ORGEN
-
(2) MPQ |
(3)  NQP
()~ M =4 "
096. Arrange lhtrfglluwing words as they -
occur in the gigtionary
(A)  L1IZARY §
(B) LF.MRTI
(C) LITTERH
(D) LE&\%L_
(E) LESSPN T
Choose the &Brcct option from the
following : CN
(1) (B), (D), (©). (B). (A)
(2) (B), (D), (E), (A) (C)
(3) (C), (A), (D), (E), (B) |
W @), D) (Bl (). (A)
097. There isa certain relationship between | 097,

two given words on the left side of (2:),
Choose the correct alternative for
the missing word using the same
relationship :

Moon : Satellite :: Larth :

APR-6-23 (/20562

(1)
(2)
(3)

>

Solar System
Sun
Star

Planct

(24)

e LU

et farte:
ADC.

(1)
(2)
(3)

f |

R[N L.
(R
MM
NOP
MI2(0)

(4 .
‘q/ra'l:ﬂﬂ i s A EE R

(A)  LIZARD

B) LEARN

(C) LITIER

(D) LEAVE

(I2) LESSON

P 8 Q @F a9 &1 55 7
(1y (B), (D) (Cn 1
(2) (B). (D) (b

(3) (C). (A) (D)
(7 B (D). (.

(::) & g apr 3 fag A s
o Fifvem e B fo o B
J4 9= F g @em 5O
qel e gurar o -

G L R T

(1) We-vi=d
(2) @
(3) am
K m

"

(% scanned with OKEN Scanner
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)8, Which of the following number will | 098.
replace the question mark(”) in the
given ligure matrix, if the same rule
among the numbers is followed either
rOW-Wise or column-wise” _
3 X 2
! -
|3 ) 35 I
27 72 63
u L.
T 40 (2) 48 |
(3) 20 (4) 32
19, 1f*Ball” is called *Cap’, *Cap’is called | 099.
‘Pencil’, *Pencil” is called *Eraser” and
‘Fraser” is called “Bag’. then what would |
Arjun wear in sunny and hot day?
(1) DBag
(2) Eraser
(3) Ball
\{9/ Pencil |
;flﬂ. Find the missing terms (2. 7) in the | 100.
. |
following series . .
ZX.V.T,R.2 ¢
(I) N.P |
2y PN
(3) M.N
(4) N.M
(25)

f=feriiae Az 4 fav o fagma |
Fra-l o geAfEe (1) & g
F, q’ﬁ*mmnfgﬂmmmﬂﬂ
'I’ém”. 31197 % B Y e
G IIRAL
3 8 L
| 5 | 7 - 35
27 72 = 63
\LL}/’ 40 (2) 4t
(3) 20 (4) 32
o G @ Ay, FE @ W,
R ‘@ T ‘W@ @ AT %E"'T%,ﬁ""-’
(1) & C"J
0>
(2) &1 e
3) &
*»i41 Eﬁhj —
M =
Fr=iferiae # mﬂ ga @ (2D F
e Hfer .(."3
»
Z.X.V.T.R, ?._'E.‘)
(1) NP
(¥~ PN
(3) M.N
(4) N, M
P10

C} Scanne

d with OKEN Scanner



Fﬁm - rgﬁ-ﬁ g+t F ?.l“l"J 4
Instructions : Each question hay four optto!t ' o T cezal /
There ©s ondy one corrvect oplion i1 cacl | g W X _‘r.[a -;n-: OMI T5 (2 o
quextion f_'."rn-t,l\'( the correct nost H{’,‘-‘”ff”'””'. f:j’?i'—,ﬁq ;m ril’* . '11 | T
option and darken the corresponding tigie will 2 ﬁmﬂ’ﬁ'ﬂ BIrte 2
prion and darken t Ponding gn ma l
«’lhu- bliack on the OME Answer Sheelba fa,‘"q_n “" HIT |
SIE(’.’I‘IUN-“I)":(:ENI-'.I{ALI{Nl)\?_t;lj-'.ll(;l'- 4. e U T A .
101, Who was the first man Lo steon the A g e
NMoon! ®) (1) 7 el .
(1) Peter Conrad (1) ',f!ﬂ g I -
(2)  JohnYoung (3) ‘-ET‘E"’: i, -
(3)  David Scott (4) ﬁﬁ ETWF; _h
Neil Armstrong 102 L—rﬁﬁ Iq:—?:‘ﬁf?ﬁvg-;;., B A4
102, Adding which of the following towater " o gl H AT R .
will make eggs loat in the waer? (1) %\fﬁ' 2T 217 |
{1} (?Il (2 Salt L (3) ‘-Eﬁ_:] (4) S
(3)  Sugar (4)  Chalk poyyder =i gl B T TR |
103.  In which vear did the I);mdiﬁﬁ} chake | 103 ;i 7 fafes E 5 By
place. when Gandhiji with several other e St o o
people went on a long watk from qg‘qE]E‘T{IE' R
Ahmedabad to the Dandi scashore 1n ~ sl By 000 S
- -8 . i n | gad] qrAl @l !
Gujarat, to protestagainst the British Law’. 1079 N
(1y 1929 427 1930 {_l‘} . v (1
(3) 1919 (4) 1920 (3) 1919 &)
104.  What is the full form of SAARE? 104. SAARC f_'-*li'-ﬁ]rf___:"_-.' D i
(1)  South Asian Allitinte for (1) @Ieg TEids ueEs = \
Regional Companies _ EF"ITH‘L . [~
LQ)/ South Asian Associmion for (2 Y WRTEA TS = 0 W,
Regional Cooperatio ;J FITII )
(3)  South American r\h'ﬂ&”!iml for (3) arsg STHIT |
Rt.‘giuﬂ:ll (_'nu,r]‘n..‘l‘:llinlkf :E"H_‘TH :ET:._:-': | t
(4)  South American Alliance for | (4) ISy WiEs == |
Rational Cooperation FIrsT
105. Read the statements given below and | 108, Sie Re W s § T e
choose the correct option Raeq &1 oo
Statement-| :Fiur stomiach chrns the FYA-1 : T UE I T |
food 1o digest i ") I My F *
Statement-11 : The food-daes not BT-11 7 o -
digest properly when we urugﬂ. EF N A 1
(1) Both :slnh:uu:nlsnrulrﬁé. (1) == e |
- Il - 9Tl thilet #r
(2)  Both statements are lntse, (3) B more oo |
) Only stitement 1 is true, \w/ t:"li bbbkt A .
(4)  Only statement 1] s true. ’ “ _:}._._mﬂ gt LA T .
APR-6-25_C129562 (26) ) FEW A
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06, Read e Tollowing statements on how
salt isMde

| OMater is allowed 1o dry in the

SHN.
1. ¢ sea water 1s collected in

shallow beds dug in the sand.
UL Alter the water dries the salt

peypans on the ground.
Choose*the correet order of the

statemadds to explamn how salt s made:
(1) i, 1l

/ @ L

L. 11, 1l

l-l] Il ", |
Why will a person not drown in the Dead
1t she does not know how to

107.
Sea ¢\
L, |
swim? _3
(1) @cause it 1s sandv.
e
(3)
(4)  Because there 1s no air.

-ausce it has the saltiest water.
:causce there 1s no water.
0%, Which part of 2 plant absorbs water and
nutrients from the sol?
(L~ Root (2)  Flower
(3) Leaves (4)  Stem

106 s 2 tvpe of drim which s used

as Indian musical mstrument.
{1~ Tabl (2)  Harmonium
(3)  lanpura  (4)  Sitar

110, wans the lamous Indian Poet who

wrote "The Gritanalt',
(1) Sarojini Natdu
2y~ Rabmdranath Tagore
(3)  Bankim Chandra Chattopadhyay
(4)  Subramania Bharat

.'\llR-{j-:ﬁ_{ 12950

1006,

108,

100,

110,

-y -
( =7 )

S22 L

TG A 4 i it apeartar et

Al @ i

l. Siciies g’l 1] I %t s I
feam s

| WpEl e w T m ogm am
3zl § T A 3 B

. 9=l & ogm A F e s e
WE AT A7

FA ® TR WM W TUR S

(1) l, 1. [l

(3) L [1. [

(2) _ &% g8 #EieE TEEE 9

’\/ U Bl

(3) FiE IOH G A O A
() T '-'Jﬂ q14 TR B 2

’ITE‘TQ’I?T"HTWQTH?:T-E:"T
QU Tl AT HIE 5
U~ &2 (2) 'j?
(3) e [l‘l a=l

UH AHIT B € ?T t T" T E AR I

i G @ & w9 § B B

w/ ol (2) ER=GR
(3) @A (1)  fEET

sfeiata’ 1 e S A uee
A Fa 2
(1) anfaEE s
B gl DI 110 LI
(3) S o ﬂ"?ﬁffi’m
(4)  TFEIE A
1.0,
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111 Who are known as 'Kalbeliyas™ (1) g« o

(1) People whoeateh (ish fromnver !:/) il ?.i!T’T.- ;jﬂ "ﬂ-'TT r

| | o enake dunee | o, Al 'i’l*h s

9/ People who make sni o (3) e

(3) People who sell old hottles ant aﬂ"j - & a . |

NCWSPAPCTS. i (4) g @i, -'TH Al F :_.-. ,

(4)  People whodo (arming. | 2. frd i1 "HT‘?TTT«I HHIE 3 4
112.  The famous Indian King who built the g - Frar At

Taj Mahal was ........ ! | (1) STFAT J,'.;J’ -

(1)  Akbar 427 Shahjahan 3) Eqrq (44 2%

(3) Humayun (4 Babur | e ] qre # [0 e
113, Which instrument is used to measure 113. gl v P T B

temperature?

(1)~ Thermometer (2) Telescope

(3) Barometer  (4) Mieroscopc (3) aﬁaﬂ () &=
114. is the largest planet in our 114, - B GITHET & e

Solar system. | 6l

(1) Earh (2)  Uranus (1) gl ! 7=

\(y Jupiter (4)  Satum | ( y qﬂqfa (5
[15. Which part of the human body helpsus | 115, A9 T & [Fg o = =

to breathe? erar et 27

(1) Heart 2) Liver | 1) w -

(3) DBran (W Lungs | 3)  wiasE ..(h/:‘”:
116. Who was the first President of India? 116. 9RG § qom R b

(1) V.V.Gin ' W) &8 fR

(2)~ Dr. Rajendra Prasad D 8. v T

(3)  Dr. Zakir Hussain 3) . we N

(4)  Mahatma Gandhi W) e
APR-6-25_C729562 (28)
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. Golconda Fort is located in which city”
Yo Jodhpur
(2) Panjim
% l}l/l'lydcmhml
(4) Jaisalmer

.8 Who among the following fouttd but that
| mosquitos spread malaria?

WAL YA

(1) Neil Armstrong
, (2) George Mestral
(3)~ Ronald Ross
3 anch

(4)  Gregor Mendel N
). When one bee finds ﬂmi&'%s with
)

nectar, what does it do to leithe other
bees know where the nectar %‘%

(1)
(2) al
Q/ A special kind of danbed

and
(4)

0. Karnam Malleshwari has wim many
r1 medals in international event&fer which
sport?
(1) Weight Lifting

Llectric signals

By letting out a special smell

A special warning callz)

(2) Kho-Kho
(3) Kabaddi —
(4) Boxing M

—
1. Whowas the {irst Indian womarnio reach

at the peak of Mount l:'.vurcst?‘l*-i
(1)  Sunita Williams a)
\(}}/ Bachhendri Pal
(3)  Wahida Prism
(4) Kalpana Chawla

PR-6-25 (/29562

117,

|18.

119.

120.

(29)

mrerter @1 faen fam et # amfegq B

(1) SMEg?
(2)  HorEl

(3) - PaTTErs
(4) e

pfafam § A AR ge A @
et e G

(1) e g
(2) el BT
@7 e 7
(4) I HEd

7 U AYHFEl WS | 97 G e ol
> & g oA w1 Fd 8 O0E
ngﬁ:ﬂ'ﬁﬁ H ql TFiE A%

-

Eh

o
(I ns

(1) faega @&a
(2) UF 99 79 BT

(3)~ U @ e #

(4) o fqsg gaE= &

FOH Aeweddl A Sauwd FEEH A
e Aa % fan a8 @@ oh

(1) saEs
~ .

(2) -
(3) @

(4) g

M g T A g wies and geE
aram nfean @ 410

(1) g faferps

(2 T ud

(3) Tt foon
(1)  THEE A

[P 1T.0,]
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137 Madhubani s ey B8 qr) 17 EAN
(o w hich state i Iedia” ‘ (1)
l‘l. 'l”‘ \ s '
| , ant!
l Ly and Ka i | 1:'/“
1) - X | |
qigerst =0
~l-_"/lhh.,u' (3)
o I Lt
| 1' \\g :ut Ih:”'l'l” [ 1 l s
Whattisgar e fE8 ea
(41 Chhatusgan 23 ' STFIC
\ ' "7 . - i
123 Whatis a drought’ - WTH AT § 5,
' L | o ” l’ . '
(1) When heavy rains citie acad | g AA T o
overtlow.
aki ) T’T—ﬂr T T b
2y When the sudden shaking ©f | () 7@ &
| WIVES L wopord Poye el |
oround causes i series of Waves § FE @E T3 A
e |.
in the sea. E O Y e
o Y EI I Il?l » -
» - b
(3)  When there s fand shiding E;
¥ = ..A -__.--u-' -
occurred on the hills. ] 1T

%/ giq l|ert =i o T
\w/ When there 1s no rain and crops Gae 995 &

may Latl %) .
i ' I SIS (2.0.5 =°
124, What is the capital aity of United Arab | 124, g% 31 STHTY :

Fmirates (UTATL)Y iﬁ-m Sl &
(1)  Sharih M) 9@
-

(2) Al Am () 3 U

(3)  Dubi a 33{5
7 AbuDhabi : @/ 3H1q bl

125 The “Vallev ol Flovvers™ s focated in 1 25. ”w\[ Eﬁ] qrdl’t ard
which state of India ! ﬂﬂﬁm o7

(1) Thimachal Pradesh n} T e

(2 Arunachal Pradesh

(%) ladakh

N
i\H/I tarakhand @/ _ I

\PR-0-25_(72036. (30)
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